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MANAGEMENT
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

o
f
1.  The demand function for commodity X, is Qp =300 —20P; where P is the price in rupées per

unit and Qp, is the quantity demanded in units per period. Which of the following is the
price level at which total revenue of a firm facing this demand function is maximised ?

(1) 8.0 (2) 7.5 (3) 10.5 ) 4) 125
£ .
R {
2. Match the production functions List - I with tllr}gfreturn.»to scale List - II.

List - T [ List -I.'III
(Production function) f (Retu to’J scale)
(a) Q=10 KO3L04E0-15\01 (i)  increasifig
(b) Q=12 KO5L05 4 (i) constant ry
() Q=100 K+15L -« J: (iii) decreasing
(d) Q=40 K03L05 Y4

Indicate the correct answer :

@ ® © (@

M @ @ o
@ 6 046 0
O @ O 40 G
@ O Fﬁ) (i)

3. Itcostsafirm?¥ dO per unit to produce product A, and X 60 per unit to produce B individually.
If the firm can produce both products together at ¥ 160 per unit of product A and B, this
exhibits signs of :

(1) economies of scope (2) diseconomies of scale
(3) diseconomies of scope (4) economies of scale
g || z Fapeca
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UERE)

Y9T-UA - 111

e : 39 T-T9 § UuE (75) Sg-fasedid UeH €1 TS U9 % a5 (2) ik &1 |l yeH Stfram €

1.

L (4

forelt ag X % faw Wi we Qp=300—20P %, wpqﬁrmmﬁaﬁnﬁ%aﬁw%wﬁfgﬁr
stafy o 9T i <9I S Mwlmladﬁ@aﬁ?waﬁﬁﬂﬁw%ﬁﬂmwﬁaﬂwwﬁﬂw
Tafes 2 f

1) 8.0 2) 7.5 3) 105 4) 125

S e G - 1 1 4 % e g - 1 foer H %

A

et - 1 o
(IS e ) (ﬁwﬁ L 1)
(a) Q=10 KOSL04E015\10.1 (i) LR ‘j .
b) Q=12 KO5L05 (i f\‘”—{ r 3
() Q=100 K+15L | ﬁ(iﬁr) CEELI
(d) Q=40 K305 ._l "
T I ST :

(a) (b) (C) (d)

M 6@ @6 6
@ O @ 6 @
LB @ ,,i> (i)
@ G ) (i) (i)

3. ACTHE®H A 3ﬁ‘f B g3l 1 STETT- STl IUTeH hidl § df 76 A =t T 90 Ufd Th1E ae Seiie B
1% 60 i 3T @ 71 AT wH I A SR B, SHI IcUET 1 TH-H1G T 160 i TS (A 71 B
SCG) AR § S FI ¢ 1 7 Frefeted § § fraeh o €2
(1) foredm =1 femed 2) TR F ey
(3) fowR & sty (4) a2 YU wt fEwrEd

s [ RHNRANN ; Paper-11
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4. In the context of Prisoner’s dilemma, which one of the following is correct ?
(1) rational choices can lead to bad outcomes
(2) rational choices can lead to good outcomes
(3) co-operation can lead to sub - optimal results

(4) none of the above

Ty

4
{
5.  Find the most appropriate sequence of life-cycle of price for a product, ffom the initial stage
to the mature stage.
¥
(1) Target price—~>penetration price—value - based price—limit price—niche price
§

(2) Penetration price—limit price—»>value - based pri‘éé—>target priite—)niche price
-

(3) Penetration price—target price—limit plllrlce—walue In'- based price—niche price
¥ | I
(4) Penetration price—niche price—)’cargeterprice—)‘mi’_c-‘J price—>value - based price

6. A public works project is proposed tl‘\atkhas total present - worth benefits of X 75 million and
total present-worth cost of I 55 millien. "In deliberating this proposal, some members of the
Municipal Board have suggested'that the project has a total present-worth disbenefits of ¥ 15
million; other members feel that ¥ 15 million should be treated as a cost. What will be the

benefit cost ratio and net bemnefits value while considering the disbenefits as a cost ?

(1) 1.70 and X 10 million (2) 1.57 and X 5 million
il -
(3) 1.60 and % 6 million | (4) 1.07 and % 5 million
"4
7. 4 The ability to intégrate new ideas with the existing processes and to innovate on the job is a
| crucial T for today’s managers.
(1) ~Conceptual skill (2) Human skill
(3)  Soft skill | (4) Technical skill
\
L]
8.  Anindividual’s involvement in work primarily indicates his/her :
(1) Attitude (2) Behaviour (3) Motivation (4) Perception
g || ;
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4. &S gl & gl # 1 H @ FiH-91 e wE § 2
(1) ek faehodl & TR TeTehY TRIS s ST |

(2) dfcher foshedl | SR Tt 3= UMY 2 |
(3) HEAN § AW TAR I9-3aH qRUMH I Bl |
(4) SwfF H @ ®iE off 7T

5. WWW@WWWWWW%WW%W—W%%
TTHH HH-T1 ] ?
(1) W& DHAI>TAY DHIHI>HI- UG HIHd>T T eh"lHd_—}SﬂFﬂ(ﬁ'ST) ;Iﬂ‘q'd

(2) YW HAd-TAEY HIHAd—H T - ST aﬁ&zfﬁ'ﬁlﬁam{ﬁm) HAd

() TR FAET FIAASTRA F - AR Fraaen(fren) Fiw

(4) AV HETITA( Fn) HHI>TE afmérasrﬁﬁr‘ Qﬁ%ﬁ—)w—mmﬁﬁ HITd

6. e e TRASH A 7€ FEAlerd fohen W FA A FIPI—?}SﬁT%PJFI F1 9 ¥ IR FA FdH=
AT X 55 faferad 81 wede W fEm g ge TRfaeE 91 % $ wewi 7 9% gee o
IR gt A st X5 s B o7 we=l w1 7l € R 15 faferem & ara ae
feTan ST | ATTd o1 STty T feR &hd U Y-arTd 319 iR frae @ o 1 g ?

1) 1.70 &R ¥ 10 fafaa= 2) 157 3R T 5 fafeem
3) 1.6oafr{?6ﬁﬂ%m{ (4) 1.07 3R T 5 fuferm

‘4
7. SHE Hfshae o e T frei skl Tehighd i 3R h1H R TG $ATS ok Feierehi & forq gl
(1) HHTIAHR HII (2) ¥ME R

(3)' i | (4) THRARI BIEA

\
|

8. wH A ! Hiaaa ge1 €9 § fefated § 9 faaent g9& 872
1) efagfa (2) AEER (3) @y (4) SrEEYA

s QAR

6]
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9.  As per Lewin’s Three - Step Change Model, changing to overcome the pressures of both
individual resistance and group conformity is termed as :
(1) Movement (2) Refreezing (3)  Restraining (4) Unfreezing
10. Out of the following, identify the four major functions which communication serves within
a group or organisation :
(a) Control  a
(b) Co-ordination L
() Emotional expression { F
(d) Information i
() Motivation el F
(f)  Organisation ) {
Codes : ;!/ = |'
(1) (), (b), () and (H @ /(). (d) () and (7
(3) (@) (b), (d) and (e) @ | @, (C)‘ f? and (e)
11. The conflict process usually has ¢ . f Y
(1) Three stages (2) Foui\st;ges (3) Five stages (4) Seven stages
Y
12. The proposes that the effective group performance depends on the proper match
between the leader’s.style.and the degree to which the situation gives the leader control.
(1) Behavioural apiaroa%h
(2) Fiedler contingency model
(3) = Leader - fember exchange theory
/ (4) Trait Appf'?ach
13. : is a;process of system wide change, designed to make an organisation more
adaptive. |
1)l Change Management
(2) ¥ Refreezing
(3) Business Process Reengineering
(4) Organisation Development
| ; —
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10.

11.

12.

13.

ifer & f-==or uRad™ I % A79R, SAfea fadiy IR 9qg STEudl, H1 % gamdl § IR 99 &
fere aftada i fFa v & gRI ST ST © 2

(1) ¥aHe (2) Tomifsm (3) = (4)  STABIST

frerfafen & & we st Fa % i faafa g S A s % R v FEiE vee
EF;IGIQ: r"
(a) frE=m (b) EH=E (c) wremeHe SAfveafd | f
(d) = (e) AU (fy HTeA

i L
%< : AN Y

’ A
1) (@), (b), (d) &R (f) @) [b), (d), (&) B ()

3) (@), (b), (d) &R (e) mﬁwqgﬁw

sra-Todie =1 aferan & THdR WX nt %ﬁ%ﬂf

< L'
(1) = =’ 2) ak,taw (3) W =R (4) HE =

%’uwférﬁ W%ﬁwﬁwm feure, St 1 et SR qar e F < W
fearfa & R & o= wqfaa fAam w R & 2

1) Wﬁé‘?{w (2) TrRewR TR JrEy
.(3) ¥ - W}Hﬁ@ﬁq@ﬁ 4) foRweR(Ze) e

t w@mgﬁﬁﬁawﬁaﬁm%sﬁ@maﬁﬁwwm%l
- trﬁa?f-—r Teier 2 FR-wifs

I - AT G S (4) HeH fasmE

pas |H||H|HH|||H||H||||\IH|\||\IIHI“IHIN|\|||\|H||! ;
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14.

15.

16.

is a profile of job holders department-wise and offers a snapshot of who will
replace if there is a job opening.

(1) Career plan (2) Replacement chart

(3) Promotion graph (4) Selection plan

Following steps are undertaken for developing a workforce score card. ¢
(a) Identify critical and carefully defined outcome measures. {
(b) Translate the measures into specific actions and outcomes.

(c) Identify high and low performing employees. - , ¢

(d) Develop and communicate detailed description of what ;é expected.

(e)  Develop supporting HRM and measurepf};t syst;ms
What is the correct chronological order of tl;[ese stepi ? _’

M @ ®),© @ @ (@ ®) @) (@) (), (@) (e

. ("

!
Which of the following statements ate not correct ?
L

(a) Pay of an employee ir}c_ﬁldes actual money that employee receives in exchange of his
work.

(b) Job evaluation provides a basis for measuring individual performance.
i
(c) Human Relations Thtory respects formal institutionalisation.

(d) . Minimumy wages are not guaranteed under incentive plan.

“(e) Job enrichﬁrnt-.l amounts to expanding vertical and horizontal dimensions of a job.

(1) (a) and (d) (2) (c) and (d) (3) (d) and (e) (4) (a) and (e)

17. Under which method of performance appraisal many evaluators join together to judge
employee’s performance in several situations with the use of a variety of criteria ?
(1) ; Graphic Rating Scales (2)  Critical Incident
Assessment Centre (4) MBO
HII“IIHIIH\I\HH L ;
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14.

15.

16.

17.

Sita | Fer™ SAfRal 1 Tk fa9mTeR Tiesa § R afe i ffad St € @ 38 gid oA
! HE@-F9-3@1 T |

(1) &R - I (2) TIFEE-4E
(3) URHfd UTH (4) = - A

- WTlich-hTe fashfad w4 o fag fFefafed weq 3em 9 % -
(a) HEEYUl qe HEuHgs s qRyifyd aftomal ®t gee
(b) WHRUEl &I FYiRa foranetl Tad aRomHEl & sca

(c) =a au1 F=1 IcuIeesh FHARE! 1 TgaH

(d) sTufea 1 faem Tam fowar @ Sauo

-

WWWW&H%WWW?WW i
(e) H=Eh . |'

SUYH Sl HICTHATTIR T0EG HY -

1) @, )@ (d 2 (@, b),d © @ (a)ﬂj(b), OACEICENCACACAC)
A f

THAIT AT TEE? A | '

Wﬁ%éﬁﬁmmﬁwﬁaw%qwm aedfer: e e 2

b)  Sifel Hewiche Ao o T FSIIET T STHR BT ]

Q) G- gt sl  fva e §

d) T Hl\ﬂdl % STl =aH Hogd i TR T © |

)
)

(a
(
(
(
(
(1

L@ ww&ﬁﬁmﬁ@ﬁaaﬁxwmwﬁmﬂm%l
)

@3N | @ (TN (3) (d) T (e) (4)  (2) T (e)

Wt@mﬁf’ﬂlﬁrﬁﬁquﬁiwi%ﬂ*dfﬁwmﬁﬁ%ﬁwaﬂﬁfﬂﬁwﬁfwﬁﬁﬁ
o= ATvEl % e e F% €2

(1)~ Wftrsk T wha 2) frfera e (IF w=)

(3) AR e (4) THSE

s QAR :
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18.

19.

20.

H||H||H||H\|\H|

According to “The Hot Stove Rule” propounded by Douglas Mcgregor, a sound disciplinary
system in an organisation does not includes :

(I) Advance warning (2) Immediacy of action
(3) Immediacy in retrenchment (4) Impersonal i
f
[ F
What is not required for termination of employees under the Industrial Dlsputes Act,
1947 ? (-
- \ (
e
(1) Seek prior approval of the approprlateIlr overnment
.-r. i

(2) Seek prior consent of the employees ‘ /f
(3) Hold consultation with employees f

</ '

(4) Pay compensation to en}pﬂoyees

-

|

Which one of_tk;e following is not a form of Government intervention in industrial relations ?
j |
(1) Assurance tff décent working conditions

(2)" Provision ci)f income security
(3) ¥ Facilitating social dialogue
r

Protection of child labour

—
(=]
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18.

19.

20.

ps |H||H||HH|||H||H||||\IH|\||\IIHI“IH\INIHIII\IHII!

STTE HehiTR gN Y&d fohT 7T ‘< gfe Wia &' o ER, fordlt §eT ¥ Asted ST{emsfTen Jormeit
o fre wnfaer T S e

(1) A Jaret

(2) HRATE i ATHITTRAT

(3) T HT ATCHITeTRAT . L

O EERIESED

3TNt feare arfufram, 1947 & iaia fﬁa@w&mwwﬁ%?
f \ /
(1) Hem TR 8 A9 ogufa wra w ‘/

=
(2) Wﬁﬁﬁaﬁﬂwﬁrmm {

</
(3) Wﬁﬁ%wawmﬁmﬂ

(4) = S &fggfd 1 e s

%

Fretferfan & & e el % 7w s i T 27

(1) FHfEd HE-EERoT 1 TR
) " sm TR 1 T

\
3) ‘f'%'rrqﬁ%ﬁ - ot wEAm

T A G

—
j—
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21. With respect to collective bargaining match the items in List - I with those in List - II, using
the codes at the end of the items.
List - I List - II
(@) Win - Lose (i)  Winning is everything
(b) Lose - Win (i) Nothing for nothing
(c) Lose- Lose (iii) Everything for everything
(d) Win- Win (iv) Relationship is paramount
Codes : g
@ ® © @ .
1) @ 6 () @) { s
@ O (v G ) ( f
G) O @) ) (v)
@) @) G (@ 6 J
22. ’Afair day’s wage for a day’s work’ is the motto of =+ ™ Jl'concexptualisation concerning
Trade Union movement. j‘P{ #
(1) Karl Marxian notion of class conflict ~ / |
(2)  Socialist pattern of society r_"r | .n'l
(3) American capitalist system f \
(4) Gandhian concept of Trusteeship {’;
23. In case where a company is likely to-have the superno.t'n{af growth for a limited finite period
and the normal growth thereafter, t?e value of the share can be computed as :
n ty s 4
@@ To = Polt Be). gst) _h ®
=1 (14 ke) =
a t—n
®) Py = z t?n(l T gN)t
t=n+1 (1 ]“ ke)
(C) P, = Dnil- 1
ke '*gN
; A
. P = D, +£1 m 1 0
(d) ke—gn H1+ k)"
Where g, =supernormal growth rate,
n=ntmber of years for supernormal growth rate
\ g =normal growth rate, Py=price of share at time 0,
J t=year, D=Dividend, k,=cost of equity
Select the correct code :
(1) Only (a) (2) Sum total of (a) and (b)
(3) Sum total of (b) and (c) (4) Sum total of (c) and (d)
|| 2
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21. WMok AN & Heof H, wel & oid # fSu MU I A1 STER FA g e - 1H I T vredf A
Tl - 119 fHam wife

Tt - 1 T - 11

(a) 4 - eR (i) SdE I FD B

(b) R - (i) F 0 TS & fau g off 7

(c) ®R-%R (i) & & fau ot 3o

(d) fa- S (iv) Wy g e g

%< : {
(@ (b) () (d) f

1) @@ @) @) (iv)

@ O v @) (i)

G) @ @) @) (v) '

4)  (v) (i) G @) i { 'i'

22, ‘ws oA & forw Sfaa e wergd’ e &5 ¥ 9f stider @ T @ ¥
(1) Tl A1 ol o GO T gRom (2) S & FESTT Ffae
(3)  STHTCHRT Ysframel Fomett (4) [ Tieht it 51 AR srEuRon

23. m%ﬁq%ﬁmﬁﬁﬁﬁﬁﬁﬁaﬁmﬁﬁﬁwﬁm%ﬁﬁﬁw%ﬁmm
Wmﬁaﬁwaﬂ@aﬁmﬁamaﬁw7

DDyl +g)! - If

Py =
@ =2 Ty Ny
c Dn(1+gN)
P, = -
R (S
L
© Pt
*N

(@ P Gt

Ke gf\y Hl+k 0
T g == T9fE
'nzﬁwma%mﬁﬁm
o= Ww@a Py=0 ¥ W I H qeA
=70, D=7, k, =3l &l

e aﬁ—s' T TIT HINT
<1> %n‘aa' (a) (2)  (a) 3 (b) =1 FeA AT
b) 3TR (c) &1 Fat AN (@) () R (d) F F AT
715 |H||H|HH|||H| Jl 3
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24.

25.

26.

Select the correct statement/s from the following :

Statement I :  The slope of the NPV profile reflects how sensitive the project is to discount
rate changes.

Statement II :  To find total NPV of more than one projects, their NPV cannot be added.

Statement III : The certainty equivalent coefficient applies adjustments to both, the
cash flows (in the numerator) and the discount factor (in the denominator).

Statement IV : The risk - adjusted discount factor applies adjustment for risk-Foﬁly to the

discount factor (denominator). /
Codes : f { r
(1) Only statement I is correct
(2) Statements II and III are correct . : N
(3) Statements III and IV are correct oy \ (
(4) Statements IV and I are correct ,.f// < .
|

/
EBIT - EPS indifference point is the level of ;
(1) EBIT that produces the same level of EPS for ’cwgJ alternative capital structures.

Fd

-

(2)  EBIT that maximises EPS % f
!
(3)  EPS that optimises EBIT - | §
' L
(4) Capital structure that ddeg not affect Ky

Let the face value of commercial paper be denoted by F.V., net amount realised from the
commercial paper bé NAR, maturity period of commercial paper be MP. The effective
pre - tax cost oficommercial paper shall be :

Y l\iIA.dk ) (FV.— NAR) 1
f m) . ‘:f 2) NAR MP
6) (F.V. — NAR) % 360 @ (F.V. — NAR) y 360
NAR NAR MP
|
27. When the target company uses the tactic of divestiture, to defend itself from a hostile takeover,
it is'said to sell the :
(1) Crown jewels (2) Green mail
(3) Golden parachutes (4)  White knight
e (11T y Paper-i
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24.

25.

26.

27.

J-1715

frefafad § @ W& ®waF/ &1 999 SIS

HIT 1 : TR TEEa ® sAH I8 S ¢ foh o<l R qReal o i afEemn fomat
G ¢ |

HAA I : TH § A IRANHST & Fa CLUEL & I & faw 3Tt T d . s 78 s
Fehl |

®YA 11 : Tf=a a9qed [onish, T&e Jam8 (19 #) 3R 92 &RE (W H), I 4 GAENT |
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28.

29.

30.

31.

32.

The average spread between the cost of goods sold and the sales revenue is indicated by :
(1) Operating Expense ratio (2)  Gross Profit ratio

(3) Net Profit ratio (4) Return on Equity

If the rate of return on investment opportunity is likely to be 15 percent, the oppo'grtunity cost
of capital is 10 percent, the earnings per share is ¥ 10 and if the pay-out zatio is 40 P’er‘cent,
the price of share according to Walter Model will be : i y

(1) %40 (2) X 130 (3) <X 148 (4) 3,400

N
1" (

If the total cash requirement of a company is ./{’ 2 croré next year, the opportunity cost of

funds is 15 percent per annum and the cost of cgnversion from securities to cash per transaction

is X 150, the optimum cash balance as per Baumol’siModel will be :

(1) ¥ 2lakhs (2) % 4lakhs 3) %élakhs (4) T 40 lakhs
f

4

An Indian company is import_in"g\nqgchine at a price of $ 5,00,000, payable after six months.
The current exchange rate is T§63 per US $. The forward contract for six months is available
@R% 64 per US §. If the rateturns out to be X 64.25 per US $, the net gain to the importer in
case he has entered into contract will be :

1) $1,25000 | (2)} $ 2,50,000 (3) $ 5,00,000 4) $ 625,000

‘4

if Sp/p and fp p, dre spot exchange rate and forward exchange rate between the countries F
and D, the interest rate parity is indicated by :

/ If rp and rp are th{ interest rates of a foreign country and domestic country, respectively, and

(1 + I‘D) |= fF/D (1 + I‘F) _ SF/D
(1% (1+ 1) 7 Se/p @ (1+m) fyp
vy
(1+m)  fep
(3) (1+1m)  Sep (4) None of the above
g 1 papern
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28. ot ME aEgell AR oy s % i sfrad et i fREeh gR gwIr i € 2
(1) e = ST (2) HA @I ST
(3) T @y U (4) I W yfawa

29. 3fc A9 SToeR W Yfawa w1 X T FAEHAT 15 Fiawrd §, qoi 6t STTE AN 1091%131;%, EIARIRES
315 210 § 3R Afg M ST (F-3113e X9m) 4om%ﬁaww%{ww%‘aﬂm
B
1) T 40 2) %130 () T8 <« @ T 400

E.

30. afe et st =t Waﬁﬁwmaﬁw?‘aqzzmé, i =1 ereeR e 15 wiae wia
79 ¥, qﬁrgﬁﬁ@mﬁwﬁaﬁwaﬁgﬁrﬁmw?ﬁo%ﬁaﬁam%aqa?\:rr{s’wm@ﬂ
BT : '
(1) z2@m@ @ T4mE, 2 ;iwa (4) %40 @

31. & 9RAE &9 $5,00,000, aﬁ#ﬂar&%ﬂqmm@% e e B HEH 918 3 | i
AT Sl m@ﬁﬁm&?@%@gnﬁ%mmﬁvﬁa@?ﬂqﬁ AT Sier B 1 afe
R T 64.25 g TATRT STaR St € @ STRTdes & foha fae oy 2 3R 38 srrardt |faar
fean &2
(1) $ 1,25,000 { (2)J{ $ 2,50,000 3) $ 5,00,000 (4) $ 6,25,000

‘4

32.( fe faewr &R S F = W FH: 1, 3R 1, § SR F Fon D 90 % o @R faf R S

Wﬁﬁﬂﬂﬂ?fw ¥ @ =19 X geord H FreAfeted 3 | fRE TR guE ST
(1 + rD) L fe/p (1+1%) _ Sk

(1); (1+ 1) | Sgmp @ (1+m) fyp
N o) e
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33. Consider the following statements :
(a) Brand equity is essentially the same as brand valuation.
(b) Market segmentation and product differentiation are alternative marketing strategies.
() Durable goods normally require less personal selling, after sales service and seller
guarantees, than the non-durable goods.
(d) Price discrimination in all forms is illegal in India.
Indicate the correct statements : {
(1) (a) and (b) (2) (b) and (d) (3) Only (d) (4) “None ’
f r
34. A consumer consults the company websites to gather information about various models of a
car. Which type of source of information is he using ? . , .
(1) Commercial (2) Experimental (3) Personal . (4) Public
/_/ #
35. Consider the following statements : I.'f . I-II
(a)  All marketing strategy is built on segrrientatio y ta.ifgeting and positioning.
(b) A brand mantra must communicate both whej rand is and what it is not.
(c) Goal incompatibility is one of the major causes f'COﬂfﬁ(I:t among distribution channel
members. 4 ?
(d) Physical goods, services an‘&sgcgres can have a brand name, but ideas and people cannot.
Which of these statements are tilue 7
(1) All of them (2)  (a) and (b) (3) (b) and (c) (4) (a), (b) and (c)
-
36. The practice of selling below cost, with an intention to destroying the competitor is referred
toas: |
(1) Loss - léaﬁer pricing (2) Predatory pricing
" (38) Price discrfrine}tion (4) Penetration pricing
37.  After determining its pricing objectives, what is the next logical step a company should take
in setting its prig¢ing policy ?
(1)|k Analyse its competitor’s cost, price and offer
(2) ¥ Determine the demand of the product
(3) : Estimate the cost of the product
Select the pricing method
HIIH||H||H\|“||IIHH\IHHIIIHI\IH ll s papeca
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33. frefafed Al o foem =Y
(a) TS it iR Fi Heais arad # §oH & 8 & |
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(1) A qﬁl@‘%ﬁ'ﬂﬁ I AN, A IR TR 1 faweryor |
(2)'y S 1w w7 e
(3) " 3JEUE T ANTA T ST AT
(4) TI-TuRT wEftgfa w1 =FT)
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38. Marketers have traditionally classified products on the basis of three characteristics :
, tangibility and use.

(1) availability (2) affordability (3)  durability (4) necessity

39. Which one of the following can be legally protected ? :
i
L

(1) Brand name (2) Trade Mark (3) Brand mark (4) ,Package J’/ )
r [

40. Which one of the following marketing practices is outside the purv1ew of the Competition

Commission ? r
AN
(1)  Exclusive dealing (2) yhgleading advertising
|
(3) Predatory pricing 4) r-"rNone'of thg; above

¥

\V/

.!"'

41. The major advantage of the direct mail marketing is if g
!

(1) High target - market sel_ecﬂvi&;g (2) Low coét of transaction
Vi
(3)  Privacy of the buyer (4) Speedy delivery

i,

'i

|
42. In this attack strategy, the marketer must back it with a stronger attack to beat the opponent.
Identify the strategy
&

-

#£(1) Encircleme?t \ (2) Flank

(3) Frontal (4) Guerrilla

I
43. A 'defective raw material causing major variation in quality characteristics is called :
v

(1)~ @hance cause of variation (2) Assignable cause of variation

Acceptable cause of variation (4) Tolerable cause of variation

HII“||H||H\|\H|| JIRCTHN
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44. Which of the following is the correct order for sequential design ?

(1) Product concept — performance specifications — Design specifications —
Manufacturing specifications

(2) Manufacturing specifications - Product concept — Design specifications—
Performance specifications

(3) Product concept — Design specifications — Performance specifi.,te.itions -
Manufacturing specifications f;

(4) Design specifications — Performance specifications — Product concépt —
Manufacturing specifications

r

L

45. Which of the following statements is not true 1/fthe cor}text of demaﬁnd forecasting ?

(1) The time frame indicates, how far into ,tf1e future the demand is forecasted.
I'

(2) A trend is gradual, long-term upward or dow‘\;\?rd movement of demand.

(3) A trend is intermittent, short term upward or downwatfd movement of demand.

%

&
(4) Random variations are moven}?nts in demand that do not follow a definite pattern.

.}4 )

46. Consider the following statements :
(@) In the Game theiory, ’The saddle point is the largest value in its row and the smallest in
its column.

(b)  The claésﬁal EOQ model is very sensitive to changes in the variables.
a

() InLP problFm, ‘an optimal solution does not necessarily use all the limited resources.

(d) 'In PERT, it is assumed that the distribution of completion time for a project is normal
r distributiorl.

In@icate the true answers.

J

(1) = Statements (c) and (d) (2) Statements (a), (c) and (d)
(3) Statements (a), (b) and (d) (4) All are true
gl T 2 paperan
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44.

45.

46.
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iu
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[EEUSISIES AN

(d) q“ré.am.ﬁ.‘g',%me%ﬁﬁﬁ@wﬁﬁw%mwwwaﬁmaw
3§ Tk [T 3T§e Bl

Fﬁ!wﬁzl

(1)~ T (9 3 (@) @ FH (@) (0 3 ()

(3) U (a), (b) 3R (d) (4) Tt = T

N

3 Paper-III

www.examrace.com



47.

48.

Consider the following statements :
(a) When there is no saddle point in a competitive game, the players adopt mixed strategies.

(b) The EOQ model of inventory control can also be applied to the production process,
with appropriate modifications.

(c)  If the price of an item of inventory increases, the EOQ will also increase proportionately.

(d) Inan LP problem, an equation is more restrictive than an unequality.  a

Indicate the correct statements. {
(1) All of the above 2) (a), (b) and (d) ( f
(3) (a) and (b) (4) None of the statements is true

1 {
Consider the following statements : /—/ .

i i
(a) In the single - channel queuing model, if =N\, the Jdlueue length would be infinite.
| |

(b) Inthe simplex solution procedure for an LP proble r , the shadow prices of the resources
are identified with the variables which are inclyded in the optimal solution.

(c)  In the case of gradual receipt of the ordered quz?'n’f'it}?, the EOQ will be larger than the
EOQ in the case of instantaneous ‘receipt. .

(d) Time is the only variableti%th)ERT

Indicate the correct answer.

(1) Statements (a) and (b) are true, others are not
i

(2)  Statements (b) and (d) are true, others are not

(3) Statemen*ﬁ (@), (c) and (d) are true, but (b) is false

/(4) All the stal?mepts are true

49. A Random variable X has the following probability distribution :

X '. : ) 20 2

Probability: ~ 0.25 0.50 0.25

The m8an and variance of X shall be :

(1) 0.50 and 1 (2) Oand1 (3) 0.50 and 2 (4) Oand?2
| 2 Faper
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50. Match the following, considering the state of conclusion for each of the situation at a=0.05.

List - IT
reject Hy
accept H,,
no decision

List - I

(@) Hy:P—P,=0,H,:P—P,<0; P=0.0233 (i)
(b) Hy:P,—P,=0,H,:P;—P,>0; P=0.0672 (ii)
() Hy:P;—-P,=0,H,:P;—P,# 0; P=0.0322 (iii)
(d) Hy:Py=P,, H, : P#P,; P=0.0233
Codes :

(@ (b) (o) (d)
O @ O 0
@ O G O 0
@) () @) @ @
@ O @ @ o

51.  Which of the following is possible in a chi - square goodness - Of - fitjtest ?

(1) The chi - square statistic is 0. s
2)  The observed counts are not whole num‘;:' |

()
(3)  The probabilities specified in the null I}-{fpothe'sis sum to less than one.
(4)

4) The degree of freedom are larger than'the nur%b;r of categories.

52. Match the following IT terminologies and functions sup_porte’ci by them.

List - I 44 List - IT
(a) Four - part numeric addreag | 4 (i) DNS

indicating a unique Computef-
location on the internet.

(b) A hierarchical system of servers (i) Gopher
maintaining databases enabling
the conversion of domain names
of their IP address. |

(c) Tool for retrieving and (i) IP
transfer-riag files from a
remote computer

[ (d) A tool that | nables the user (iv) FIP

to locate information stored on
Internet Servers through a series
of easy-to-use hierarchical menus.

Cqdes : |

\ @ (b) f(c) (d)
(1 ) (@) () @) ()
(2) =G @ (v) (i)
(3) (i) (iV) (i) (ii)
(4)

111
e | |H|\

N
=)}
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50. «=0.05R Y fearfa o fog fred &t 9fifeafa w foem i g F=fatea <1 faam s e
A -1 g - 11

(@) H,:P,—P,=0 H,:P,—-P,<0;P=00233 (i) &&%Hd H,

(b) H,:P,—-P,=0,H, :P,—P,>0;P=0.0672 (i) W&PdH,

() Hy:P;—P,=0,H,:P;—P,=0; P=0.0322 (i) foifa

(d) Hy:P=P,, H, P1¢P2 P=0.0233

e :

(@ () (o (d) p
O @ @O @ 3§ {
2 @O @) @O @ { r
@) @) @) @) @)
4 @O @) @@ @
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(

52. frefafea o2, m@wmmmw&mwﬁww
Tt - 1 qéﬁ 11
(a) wﬁzmwwwﬂ\{ () TLTLTE
=t gu R T onifE wl
(b) S AE T SHF R T H (i) TIEL
T 1 THY I T ST
(€ T FHY | FEe Rd AR TR (i) ST
T o felg =
(@) THIAAS T 1 Shitsh | (iv) THIAG.
{ STHH-Y- TR e F W |
FeTE Tl B WR i g A1 &1 qal
_ o o SEE A
FE : |
L @ (b)) (0 (d
M@ @) G (@)
() s (@) o (v) (i)
®) (@) (v) @ (i)
(4) @) (@) o (v) (i)
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53.

54.

55.

56.

The language used to develop interactive 3D modelling on World Wide Web is called as :

(1) XML 2) JAVA (3) HTIML (4) VRML

Software that stores credit card and other information to facilitate payment for goods on the
web :

(1)  Electronic Cash (2) Digital Wallet

Ty

(3) Smart Card (4)  Electronic Cheque {

Pan Amsat developed a joint venture with Jsat Corporation to develop and send into orbit a
small satellite. Which type of alliance the above statement represents. ?
(1) Diversifying Alliance (2) I?ﬁnch.isif}g E

(3)  Synergistic Alliance 4) IIIﬂNone of thel!l above
¥ | I
/ ]

Which of the following alternatives represents the K ive - Forces Model of Competition

developed by Michael Porter ? —
L
(1) Suppliers, buyers, competitive flvalry among firms in industry, product substitutes and
potential entrants. - Ny
Y4

(2) Employees, buyers, competitive rivalry among firms in industry, product substitutes
and potential entrants.

(3) Suppliers, buyéfs, employees, product substitutes and potential entrants.
(4) Buyers, employees, stpliers, product substitutes and potential entrants.

‘4

a multi function focus is essential for successful strategic management”?

57./ Who among the ff)lloﬁwmg has given the statement : “transition from single function focus to

(1) Robert Grant (2) ].B. Barney (3) Igor Ansoff (4) Edgar Schein

I
a

|

58. . signals a strategic inflection point necessitating a radical strategic shift.
(1) - Ambidexterity (2) Strategic Dissonance
Stretch Targets (4) Organizational Adaptation
HIINIHIIH\IHHI|HH\HH|||H\\IHIIH\HHHI\ 2 —
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53. ¢S dEE dd W WER-HARE ATt 3-Sl Aiefei fasfad w0 & faw ygaa 9 &1 wegd € -

(1) XML 2) JAVA (3) HTML (4) VRML

54. WX Sl 99 T MMl & YA H FeEdl & & fa shiee H1e IR 7= ol ©R & ¢
(1) zowf=Fa (2 fefFeadare @) wwR*E () wERGE T
L
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(3) gAYl T (4) zfsmaa H @ e Tl
f i

56. Wﬁmﬁmﬁaﬁwﬁawaﬁﬁﬁﬁfﬁaﬂﬁ\ﬁ S T farepen w2

(1)  aTafdshat, s, Sam & st 3 ot gt giagiga, Seie fosmeq qon Gefeaa giaant
) mrﬁimﬁsauﬁ%wmé:fhmﬁuﬁlm%mﬁwwqwmﬁ
(3) Wmmmquwm

(4) WWWWWGWHWW

¢ -
' {
57. frefafed s feam fean 82

‘\‘(\'* ¢ o s e~ fala 3
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a

'mwmeaww (3) TIRTHE® (4 TR I
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59.

60.

61.

62.

Grand Strategy Matrix refers to

(1) development of analysis for the strengths, weaknesses, opportunities and threats of
organisation

(2) development of strategic position and action evaluation
(3) development of strategy for plotting organization division in a schematic diagram

(4) development of a popular tool for formulating alternative strategies ¢

{
Ip' r
Which one of the following is not an entrepreneurial competency ?
(1) Tolerance of ambiguity and uncertainty . ; r
"
(2) Motivation to excel A (
*

(3)  External locus of control ;"/ |

/ , '

(4) Self-efficacy | /

As per the RBI guidelines (Novembe{ 2012), a MSE ;{oula be considered sick if any of the
borrowal account of the enterprise remains non-performing assets (NPA) for :

(1) Three months (2) S??n&ths (3) Nine months (4) Twelve months

Which one of the following idea generation methods focusses on developing new ideas when
the individuals are uf:'lawalfe of the problem ?

(1) Gordon method (2) Checklist method

(3) Creative pgoblem solving (4) Brain - storming

63. Which one of the following is not a part of the industry analysis for a business plan ?
(1) F Analysis of competitors
(2)tt d Market segmentation
(3) " Distribution of the products/services
Industry and market forecasts
H||H||\|||H\|\H|||||H\H!!|||\|\\IHIIHII\HIH 0 —
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(1) TS *1 qmed, FHSIN, a6 q1 FAE! o faversor F1 fawm
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(3) HARYd W& § Tk IS THN THAT & fow wHlfae fasms
(4) Shfeden WHIfaw IR & fohE g T ARTd ST
60. foriferfian & @ i o v we T §2 f (
(1) e oiR fagnfa & gesied
(2) Scpted % fau sfauR
(3) i 51 e i o T E
(4) A FHTECEHA / '
61. Rd 6 o o faenfiaen (Famr, 2012) % TR, %ﬂ weAR AU ST (TLTE.E.) H A
g-'\lj-ll{ T ST AfE STH I g W@F‘\ﬁﬁ arafy %W?‘Qﬁf{—ﬁw fgafaar (T.9.T) w@a
(1) =R (2) @E?ﬁj 3) ftl‘ﬂ"é’ (4) dRBHE
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64. Which one of the following is an apex organisation under the union ministry of MSME engaged
in Training, Consultancy, Research and Publication to promote entrepreneurship ?

(1) NIESBUD (2) NIMSME 3) IIE (4) MGIRI

65. Which one of the following is true in case of an Intrapreneur ?
(1) Heis ajob provider
(2) He is independent in his operations
(3) He assumes risk and uncertainty

(4) He does not raise funds required for the enterprise 41,
AN 4
’ A
66. Which one of the following is not a principle,r%f corporattlé Governance ?

| .'l
(1) Transparency (2) Ac:coun’cabilityF (3) ‘e;l?i'bility (4) Responsibility

Fd
-

67. Match the items given in the List - I’a‘{rfd List - II and!}suggest the correct code :

. 14 .
List -1 by List - II
(a) Ethics " (i)  Right code of behaviour for a group or profession
(b) Morality ; & (ii) Prescribes right conduct for everyone
|
() Moral standard (iii) Needs some inclination to follow morality
(d)  Meta Moliial Standard (iv) Practical and pragmatic

F -
f

Codes :

@ b () @
M G @) G @)
@ Gi) 6 G )
@) @ O (v G
4y (@) (@) (@Gv) (i)

)
gl T

W
N
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64. frAfafEd 8 @ FF-91 T died WA =g 31fd T, T T Heam e HAed & 1ei Safia
1 T <7 % o gferern, wmel e, STEEE a0 YR & § B R W R ?
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65. frefafed § @ ®F- T fHe 3Tt (F2U=R) & Ama § 9 €2 p
(1) 9% TH AR T&m 2 | r { 2
(2) 9 T HE H WA T
(3) e SfEH iR STfeerar 1 STAM o | -~
(4) %m%mﬁmﬁaﬁqﬁaﬁm;J ' } \ N
66. Wﬁ@ﬁ-mmmwﬁmﬁr%%f
(1) wRGR (2) SHETerRE 3) lq;é'rdw (4) SETEE
67. W-Iﬁ?@-llﬁﬁﬁﬁgﬂ%ﬁ@@?@@fwwﬁm:
et - 1 __H ) et - 11
(a) Hfqemes (T{fw) () HHE YA FaHE % T R & IugF Higdl
(b) fdewa (ARfEeh) J{ (i) TIH % foaw FiRa Soge SR
() Afew 91 (W@ €e) (iii) Afqwa (aRkfeet) #1 Tm F fd F FgFEE F;T
" * S:ITWQ
d) e Afaw ‘ﬁ? (iv) STIER 3R ATaEIi
< :
@ 0 |© @
1) @ @) ;g )
@) 6 6@ W
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68.

69.

70.

71.

An approach to managing, where managers are guided by organisations shared values in

their management practices, is called :
(1) Greening of management (2) Value-based management

(3)  Socially responsible management (4) Social impact management

The Gaia hypothesis was propounded in 1999 by :
(1) James Lovelock (2) Friedman

(3) Lord Keynes (4) Jean - Jacques Rousseau

i

Ty

rd

[

Assertion (A) : When a corporation acts ethically and socially responsible in its business
decisions and strategic planning, then the corporation will be more

sustainable. y

Reason (R) : Socially responsible corporate behaviour is inc-l‘easiﬁgly seen as essential to

long-term survival of companiés "

(1) Both (A) and (R) are true and (R) is thgfcorrelct exglllanation
(2) Both (A) and (R) are true but (R) is n(ar;c the ¢ 1'ecfc'J explanation
(3) (A) is true, but (R) is false O‘

(4)  (A) is false, but (R) is true __ &

. |

e

Match the items given in List i i"hr@g List - IL.
[

List - I = List - II
(a) Beggar thy Neighbour (i) Having low factor of interdependence
Trade Policy * 3
(b) Mercantilism Tf'leory{ (i) Having an advantage of earning a return on

knowledge assets

(c) . Multi-Domestic Strategy ~ (iii) Alleviating some domestic economic problem by

exporting to foreign countries
a

discouraging imports
Codes :
@ () (9 (@

1},k @) @) - 3Gd) (iv)

@ L) G @ @)

(3) (i) (iV) @) (i)

(4) (i) (v) (i)
s [ | I y

( (d) Turnkey Prfq’ec"t (iv) Propagates encouragement of exports and
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68.

69.

70.

71.

s ]

U % 39 it o1 fohg A J I ST § 9 yeue ST YeUshig SAaerl B HeHl % 9
et % g1 e 2 § 2

(1) 9o 1 gt (2) HI-IURA ey
(3) WEIS® €9 § ISR gaY (4) HEISS g9d gaY

1999 H AT YTeheqT 1 Gfaures fora foman ?
(1) = daarh Q) wrEEhH
(3) e w4 (4) SH-Swg T i

HUT (A) : & W e ™ ol R amie e J Afaw aﬁ'{ﬁwlfclel:t&qﬁmﬁﬁ
& WY FM F T A srderFa e o qml

W (R) : W%Wwﬁ@%@ﬁmﬁaw@mmwﬁ
SAfemian st S @ B / |

@) 3 @ o o 1

2) (A) 3R (R) IHI &l § fohg (R) TR =40 &1 7 | f/ ’

6 WFEFIRTEE 4 o )

4) (A) oM ¥, W(R)W%Iﬂ  { '

| Y
Tl - 1o g - 11 fR 7w w5t e
Tl - 1 !:' . T - 11

(a) aﬁnf:rﬁmwaﬁﬁ ()  erafreftar &1 @ HaX

(b) H%dl%l(’]\YH fergid (i) AE-HUT W A G H1 AT

L © q—a@ﬁﬁﬁ%mﬁr (iii) foeel # fafd 10 Fo =] Sfeis THEN 1 S3eH
e ﬁaﬁwﬁuﬁ%m (iv) T7aid i gg@ 37 1 T9R T4 ST S SalcTed il

e :

@ (b |(c) (d)
(1), i) @ @) )
@ VG @) 0 W)
3) @) Gv) @) (i)
4) @) @) () ()

(iii

il =
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72.

73.

74.

The Most Favoured Nation status doesn’t necessarily refer to :
(1) Non-discriminatory treatment
(2) Same and equal economic treatment

(3) Same tariff rates applicable

Ty

(4)  Uniform civil code

{
lp' [
Which of the following organizations play an active role to prevent the contagion situation
of crisis, such as the Greek Sovereign debt crisis ? p
{ °,
(1) IMF () World Bank  (3) » WTO (4) UNCTAD
*
f i
/ | f
| [
The whole channel concept for International Markehr?'is represented as :
(1) Seller — Seller’s Channels Channels Final
International =~ — within foreign — between — Buyers
Marketing nations nations
Headquarters
(2) Seller _, Seller’s Channels Channels Final
International =~ — between — within — Buyers
Marketing nations foreign
Headquarters nations
(3) Seller _, Channels Seller’s Channels Final
between — International — within — Buyers
foreign nations Marketing foreign
Headquarters nations
(4) Seller _, Channels Channels Seller’s Final
between — within foreign — International — Buyers
foreign nations nations Marketing
Headquarters
| ’ papera
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75. As a part of the WTO Guidelines, the Agreement on Agriculture (AOA) does not include :

(1) Direct payments to farmers are permitted.

(2) Indirect assistance and support to farmers including R and D support by Government

are not permitted.

(3) Domestic policies which directly affect production and trade have to be cut back.

(4) Least developed countries do not need to make any cuts.

-00o0-

W
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